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1. Solve Yy '=(-2x+1)y, y(0)=2.

2. Solve X’y"+xy'—y=3x".

3. Solve y"+4y'+3y=26(t-1), y(0)=0, y'(0)=0.

4. Solve the initial value problem by a power series.

Y +(1+x*)y=0,y(0)=1y'(0)=0.

1 if -2<t<?2

5. Find the Fourier transform of the function g(t) = .
0 otherwise

6. Find the eigenvalues of the matrix
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7. If A denotes the eigenvalues of an arbitrary 2x2 matrix A = { d} , find the
C

characteristic equation for the matrix A.
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8. For the symmetric matrix B = {2 7} , find an orthogonal S such that S™BS is

diagonal.

. X1/3
9. Evaluate IO m dx

10. Given F(s)= ﬁ, compute the Laplace Inverse Transform of F(s).
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